EARAROBREBRT —5 XN—ZXBISH—F

2023128168 (+) SEIFR#5H

| R VR

BN R

[AE%] 17%&:7,200,000 § ~ 237&:2,900,000 .~ 375:1,800,000 437%&:1,100,000 5 3&:720,000

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
A5 UR — i 2 é’gfgiﬁﬂ% 1:(5_6).3 2-2-2-2 | 40.1| 80.2 | 6 (412) %u#méé (EF=H)
R:aAN/VyF— B:TIW—AH-=L T s
HEE= . 55 BAEE (FR)
FALL 42 foe (11.536/.46; 6-5-5-3 |39.8| 77.5 | 5 (438) s
RiSZ B:F4—TSvR TERS
~, o e, — LLeas) : -7-7- EREAtESE (FBR
IS —HNYT— 32 B 1(55/64.)7 6-7-7-6 | 39.0| 76.3 | 2 (532) T’I‘F:Fﬁ% )
RPN/ FTAVEYR BIRI-=F VI Pui e ]
- o AT : -4-2- AHE (EF)
P OELIN A 2 ) 1.(537).2 4-4-2-1 4.0 73.4 3 (516) R
RiYyd—2/— B:kyIdI—2ZN—=2R =St
“— )] : -8-8- R (FER)
5lglg| 7TATRTS—2 i 2 == 1(.15/72.)3 8-8-8-6 |39.5| 71.6 | 8 (434; ox %
RAZASRZ—5 B:EALIXTAHU TS
S # 2 | B. ALYNT 2:00.6 1-2-1-5 | 44.4| 52.5 | 1 518 | B (FR)
615! 5 | O—RrLY—IL 5.0 G149 o | @ o-rm-2957
R:O0—RHF07 B:F—FE170 TATAT7—LA
= v 2 | AAWELF 2:01.0 2-1-2-3 | 44.8| 50.5 | 4 486 | LB (RR)
70101 |EYF—LU7ILN * 5.0 %) - SAFIU—Zh—2 ()
R:Za—AV—RF4 B:AFSTSR BT 7—LA
N 2 | L. EUR 2:01.4 4-5-6-8 | 43.3| 45.0 | 7 538 | EY— (RRN)
8177 INA 11— H 56.0 2 1/2) (=) TJRILT 1Y
RiT7AYZ—RIL B:HF—) S—L—- Vv XY - TF—LERE
— s JNSEZ : -9-9- WA (FFR)
o6 vozzvyTL 2y ny | s Jasfas s [ [,
R:FISU—yavATo+r— B:AY—KFRAUOR LB
[ BN
Eh' 53.4-40.1
NOVI AL | 12.7-11.1-13.0-12.8-13.3-13.3-13.2-13.0-13.9
@ 11— —BBIEfI
13—7— (1,3,%5)-(4,7)-(2,8)=9,6
20—7F— (*1,3,5)-4-(2,7)8-9-6
Jal=zr= (1,3,%5,4)-2=7,8,9=6
43—F— (3,*4) (1,2)5-(8,9)=7-6
o ILRE
B B 3 1,820 JA R 2-3 1,590M & 2-3 7,660 3EE 2-3-8 8,890
g B 3 380M4 3-8 8504 5 & 2-3 6,770M 3EH 3-2-8 88,400
2 380M4 2-8 1,060/ =51 3-2 17,660
8 210M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




